*MINI-TREK*
BY FRANK MCCOY 1/7/77
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K=X+1

:N)=B

#=X{64*100
X=1

#=°743%0+702%170

: X)=2/5%0+X=0% A<D +4
A=: X)=2+A
X=X+1

#=X{65%140
X="/64%@+%+1

1 X)=3
E=X-1/8
F=X+1
#=7220000%298
J=7/64%0+2+1
#=J=X*240

1 J)=4
S=J-1/8

=Z+1
C=SCE¥CE=S)+(ELS*(S~E))
G=T{F¥CF=T)+(FLT*(T=F))
R=C<2*(6L2)

=D+1
L=0%10000+CQ=06%L)*(L{10081)
=' L)

7= "HENAEE RN
XN=1
K=0
J=1

=4

C=: X-1%8+J)

PRINT R CARRIAGE RETURN-LINE FEED
PRINT HERDING

SETUP NUMBER OF KLINGONS ¢18-36)
SETUP NUMBER OF STARDATES

SET INITIAL ENERGY TO 10088
INITIALIZE LOOP COUNTER

FOINT STﬁfBﬁSE OUTSIDE OF QUARDRANT

INITIALIZE KLINGON COUNTER

POINT TQ NEXT SECTGR IN QURDRANT
CLEAR SECTOR

HAYE ALL 64 SECTORS REEN CLERRED?
RESET LOOP COUNTER

PROB. OF 2 IN 13 OF A STAR OR KLINGON
PROB OF 1 IN & OF STRR BEING KLINGON
IF KLINGON THEN INCREMENT COUNTER
INCREMENT SECTOR COUNTER

SEE IF ALL 64 SECTORS HAYE BEEN SETUP
POSITION ENTERPRISE AT RANDOM

SAVE SECTOR COORDINRTES

PROB. OF A STARBASE APPROX 1 IN 4
POSITION STARBRSE RT RANDOM '
DO IT AGRIN IF ENTERPRISE IN SAME PLACE

SAYE STARBRSE COORDINARTES

FIND QUT HOW CLOSE THE ENTERPRISE -
IS5 TO A STARBASE

IF CLOSE ENOUGH ENTERPRISE 1S DOCKED
INCREMENT STARDARTE

SET ENERGY IF DOCKED OR ENERGY IS NEG.
FRINT CRLF

FRINT TOP BORDER OF SCAN

INITIALIZE LINE COUNT OF SCAN

SET UP TO COUNT KLINGONS

INITIALIZE COLLUMN COUNT

PRINT LEFT BORDER

FIND OUT WHATS IN THAT SECTOR

$=0*14+32+(C=2%15)~(C=3*F)~(C=4%22)  PRINT SPACE,..E,B,0R K

K=C=2+K
J=J+1
=J<9*438
?= H# ll‘-
#=X{4*758 _
=X>5*(X*38+408)
?="SECTOR "
P=E+1
?=F
#=758
?="STARDATE i
?=D
#=758
?="ENERGY "5
?=L

INCREMENT IF KL INGON

NCREMENT SECTOR

IF NOT LAST IN ROW THEN GET NEXT

PRINT RIGHT BORDER

FIRST FOUR LINES BLANK .
PRINT THE RAPPROPRIATE DARTA FOR ERCH LINE
PRINT THE SECTOR NUMEER

PRINT THE STARDATE

PRINT THE ENERGY REMAINING




caa
618
620
630

66a
678

78
798

990

#=750
?="KLINGONS ";.
?=W

#=750
?="CONDITION ";
#=Q+*698
=K=0*718
?="RED";

#=758
?="DOCKED";
#=758
#=L<{20006%740
P="GREEN";
#=756
P="YELLOW";
?S."

X=X+1

#=X{9*400

?="HUNHNERRER "

?:ﬁl’

#=K=0%340

H=*/250*%K

?=H

Z=z gNIT HIT FROM KLINGONS*"
#=W=0%1196

PRINT THE # OF KLINGONS REMRINING

PRINT THE CONDITION ¢RED.GREEN.ETC.)
IF DOCKED

IF NO KLINGONS IN VICINITY

IF KLINGONS RRE PRESENT

IF NEXT TO R STARBASE

IF ENERGY IS LOW GOTQ 748
IF NO KLINGONS IN QUADRANT

IF ENERGY 15 LOKW

PRINT A CRLF

INCREMENT LINE NUMBER

IF NOT LAST LINE THEN REPEAT

PRINT BOTTOM BORDER QF SCAN

PRINT CRLF

IF NO KLINGONS PRESENT THEN SKIP NEXT
FIND OUT HOW HARD YOU GOT ZAPFED
PRINT THE VALUE

PRINT MESSRGE

SUBTRACT YALUE OF HIT FROM ENERGY LEFT
IF NO KLINGONS LEFT THEN ¥Y0OU WON

#=D=0+(: E¥Q+F)=8)+(L-1210080)>1%1218  SEVERAL WARYS TO LOSE

?="COMMAND? ";

A=?

#=A-1>3%860
=RI2*{A*26+948)
=1060

#=: 01214908

:E*8+F)=0

=3

.:H
=N

L=L-G

#=290

L=L-{"/258+3608)

#=58

1000 #=1860
1616 #=-{786a*1040
1628 U=W-¢:02=2)

163e@

Q=@

1848 L=L-(G*2>
- 1850 #=290
1868 7?="SECTOR? ";

iero

M=2/13-1

1686 N=x

ias9a

=p*3+N

1160 #=0-1264%548
=H-E¥CN-E)+(N-F¥(N-F))%168  SUM OF SQUARES OF TWO DISTANCES

1118

1128 R=!

1138
1142
1150

G=C-18
#=G=0+R
J=G

1168 G=C/G+G-2

11r@e

#=G<J*11580

1186 #=R

PROMPT

INPUT THE COMMAND #

IF ILLEGAL COMMAND THEN REFERT
GOTQ AFFRORIATE COMMAND ROUTINE
GOTO THE SECTOR SUBROUTINE

You CAN‘T JUMP WHERE SOMETHING 1S
YOU RRE NO LONGER THERE

YOUR NEW LOCARTION

SAVE NEN COORDINATES

SUBTRACT ENERGV NEEDED T0 MOVE
FRINT OUT NEW M

LESS ENERGY 710 NOVE TO R NEW QUADRANT
SETUP NEW QUARDRANT

GOTQ THE SECTOR SUBROGUTINE
RANDOM MISS

IF ITS A KLINGON THEN ONE LESS KLINGON
WHRTEYER 'IT WAS IT’S DERD v
SUBTRACT ENERGY NEEDED T0 SHOOT
FRINT OUT NEW MAP

SECTOR SUBROUTINE

INPUT COORDINRTES

FIND WHERE THEY ARE IN THE ARRAY
RETURN 70 COMMAND IF ILLEGAL CODRDINHTEs

SAYE RETURN ADDRESS
SETUP FOR SQUARE ROOT

RETURN IF ZERQ DISTANCE

SHYE RPPROXIMATION

CALCULATE SQUARE ROOT

zEngﬁ APPROXIMATION IS BETTER THEN conr




2

1190 ?="Y0U WIN!!'" IF YoU WON
200 #=1228 SKIP NEXT

216 ?="YOU LOsSE!" IF YOU LOST

THIS MINI VERSION OF STRARTREK HAS ONLY THREE COMMANDS:
1 MOYE TO A DIFFERENT SECTOR

2. MOVE TO A DIFFERENT QUADRANT

3. FIRE RT A GIVEN SECTOR

NOTES: THE FURTHER YOU MOVE OR THE FURTHER AWAY YOUR TARGET THE
MORE ENERGY IT TRKES

IF YOU RUN OUT OF STARDATES OR ENERGY YOU LOSE
IF YOU ZAP YOURSELF, YOU LOSE
NOT ALL QUADRANTS HAVE STHRQFISE’S IN THEM

A SAMFLE PRINTOUT LOOKS LIKE THIS:

Ll i 0223

#. N

# K #

# E . #

# . # SECTOR 33
#KK # STARDATE 65437
# # ENERGY 5736
# B . # KLINGONS 15

# . # CONDITION RED
H#ARBRRRENN

586 UNIT HIT FROM KLINGONS
COMMAND?




